- first Z+< seventeenth
7= second E AN eighteenth
Z = third 2+ nineteenth
Zm fourth =1 twentieth
%A fifth =1 — twenty-first
%= sixth L= = twenty-second
e seventh 2=tz twenty-third
%\ eighth 2ot D twenty-fourth
21 ninth Z2=14 twenty-fifth
?T tenth 2=t= twenty-sixth
Z+ - eleventh Z=-t<« twenty-seventh
£+= twelfth - VAN twenty-eighth
£+ = thirteenth 2=-th twenty-ninth
Zto fourteenth £+ thirtieth
Z2t+2a fifteenth Z—B hundredth
2+ = sixteenth Z— T thousandth

This is my first smartphone.
(ERKBIBZ— L FH)
I live on the second floor.

(KEE=18)
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